
Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

LED P23  |  Recessed Linear
2˝ Slot
I N S T A L L A T I O N  I N S T R U C T I O N S 

PARTS LIST PART NO. DESCRIPTION

FINISH PLATES:

WAIL RAIL EXTRUSION

PERIMETER OVERHEAD 
MOUNTING BRACKET

LENS REMOVAL TOOL
ALIGNER SEAM JOINER 6-32 X 1/4˝ PHIL HEAD PAN SCREW BODY JOINER8-32 X 1/4˝ PHIL PAN HEAD SCREW

X7 FINSIH PLATE -FLUSH X7 FINSIH PLATE - REG1 X7 FINSIH PLATE - REG3

X3 FINSIH PLATE -FLUSH X3 FINSIH PLATE - REG1 X3  FINSIH PLATE - REG3

WTW FINISH PLATE REFLECTOR REMOVAL TOOL

8-32_X_3_8_HWH_SELF_TAP

X1 FINISH PLATE -FLUSH X1 FINISH PLATE - REG1 X1 FINISH PLATE - REG3

X1 FINISH PLATE -FLUSH X1 FINISH PLATE - REG1 X1 FINISH PLATE - REG3

TROFFER CLAMP

WAIL RAIL EXTRUSION

PERIMETER OVERHEAD 
MOUNTING BRACKET

LENS REMOVAL TOOL
ALIGNER SEAM JOINER 6-32 X 1/4˝ PHIL HEAD PAN SCREW BODY JOINER8-32 X 1/4˝ PHIL PAN HEAD SCREW

X7 FINSIH PLATE -FLUSH X7 FINSIH PLATE - REG1 X7 FINSIH PLATE - REG3

X3 FINSIH PLATE -FLUSH X3 FINSIH PLATE - REG1 X3  FINSIH PLATE - REG3

WTW FINISH PLATE REFLECTOR REMOVAL TOOL

8-32_X_3_8_HWH_SELF_TAP

X1 FINISH PLATE -FLUSH X1 FINISH PLATE - REG1 X1 FINISH PLATE - REG3

X1 FINISH PLATE -FLUSH X1 FINISH PLATE - REG1 X1 FINISH PLATE - REG3

TROFFER CLAMP

WAIL RAIL EXTRUSION

PERIMETER OVERHEAD 
MOUNTING BRACKET

LENS REMOVAL TOOL
ALIGNER SEAM JOINER 6-32 X 1/4˝ PHIL HEAD PAN SCREW BODY JOINER8-32 X 1/4˝ PHIL PAN HEAD SCREW

X7 FINSIH PLATE -FLUSH X7 FINSIH PLATE - REG1 X7 FINSIH PLATE - REG3

X3 FINSIH PLATE -FLUSH X3 FINSIH PLATE - REG1 X3  FINSIH PLATE - REG3

WTW FINISH PLATE REFLECTOR REMOVAL TOOL

8-32_X_3_8_HWH_SELF_TAP

X1 FINISH PLATE -FLUSH X1 FINISH PLATE - REG1 X1 FINISH PLATE - REG3

X1 FINISH PLATE -FLUSH X1 FINISH PLATE - REG1 X1 FINISH PLATE - REG3

TROFFER CLAMP

91456 Flush

91457 Regress 1

91458 Regress 3

WAIL RAIL EXTRUSION

PERIMETER OVERHEAD 
MOUNTING BRACKET

LENS REMOVAL TOOL
ALIGNER SEAM JOINER 6-32 X 1/4˝ PHIL HEAD PAN SCREW BODY JOINER8-32 X 1/4˝ PHIL PAN HEAD SCREW

X7 FINSIH PLATE -FLUSH X7 FINSIH PLATE - REG1 X7 FINSIH PLATE - REG3

X3 FINSIH PLATE -FLUSH X3 FINSIH PLATE - REG1 X3  FINSIH PLATE - REG3

WTW FINISH PLATE REFLECTOR REMOVAL TOOL

8-32_X_3_8_HWH_SELF_TAP

X1 FINISH PLATE -FLUSH X1 FINISH PLATE - REG1 X1 FINISH PLATE - REG3

X1 FINISH PLATE -FLUSH X1 FINISH PLATE - REG1 X1 FINISH PLATE - REG3

TROFFER CLAMP

91459 Wall to Wall (WTW)

WAIL RAIL EXTRUSION

PERIMETER OVERHEAD 
MOUNTING BRACKET

LENS REMOVAL TOOL
ALIGNER SEAM JOINER 6-32 X 1/4˝ PHIL HEAD PAN SCREW BODY JOINER8-32 X 1/4˝ PHIL PAN HEAD SCREW

X7 FINSIH PLATE -FLUSH X7 FINSIH PLATE - REG1 X7 FINSIH PLATE - REG3

X3 FINSIH PLATE -FLUSH X3 FINSIH PLATE - REG1 X3  FINSIH PLATE - REG3

WTW FINISH PLATE REFLECTOR REMOVAL TOOL

8-32_X_3_8_HWH_SELF_TAP

X1 FINISH PLATE -FLUSH X1 FINISH PLATE - REG1 X1 FINISH PLATE - REG3

X1 FINISH PLATE -FLUSH X1 FINISH PLATE - REG1 X1 FINISH PLATE - REG3

TROFFER CLAMP

29513 Aligner Spline

WAIL RAIL EXTRUSION

PERIMETER OVERHEAD 
MOUNTING BRACKET

LENS REMOVAL TOOL
ALIGNER SEAM JOINER 6-32 X 1/4˝ PHIL HEAD PAN SCREW BODY JOINER8-32 X 1/4˝ PHIL PAN HEAD SCREW

X7 FINSIH PLATE -FLUSH X7 FINSIH PLATE - REG1 X7 FINSIH PLATE - REG3

X3 FINSIH PLATE -FLUSH X3 FINSIH PLATE - REG1 X3  FINSIH PLATE - REG3

WTW FINISH PLATE REFLECTOR REMOVAL TOOL

8-32_X_3_8_HWH_SELF_TAP

X1 FINISH PLATE -FLUSH X1 FINISH PLATE - REG1 X1 FINISH PLATE - REG3

X1 FINISH PLATE -FLUSH X1 FINISH PLATE - REG1 X1 FINISH PLATE - REG3

TROFFER CLAMP

101504 Body Joiner

WAIL RAIL EXTRUSION

PERIMETER OVERHEAD 
MOUNTING BRACKET

LENS REMOVAL TOOL
ALIGNER SEAM JOINER 6-32 X 1/4˝ PHIL HEAD PAN SCREW BODY JOINER8-32 X 1/4˝ PHIL PAN HEAD SCREW

X7 FINSIH PLATE -FLUSH X7 FINSIH PLATE - REG1 X7 FINSIH PLATE - REG3

X3 FINSIH PLATE -FLUSH X3 FINSIH PLATE - REG1 X3  FINSIH PLATE - REG3

WTW FINISH PLATE REFLECTOR REMOVAL TOOL

8-32_X_3_8_HWH_SELF_TAP

X1 FINISH PLATE -FLUSH X1 FINISH PLATE - REG1 X1 FINISH PLATE - REG3

X1 FINISH PLATE -FLUSH X1 FINISH PLATE - REG1 X1 FINISH PLATE - REG3

TROFFER CLAMP

101274 Reflector Removal Tool

PARTS LIST PART NO. DESCRIPTION

WAIL RAIL EXTRUSION

PERIMETER OVERHEAD 
MOUNTING BRACKET

LENS REMOVAL TOOL
ALIGNER SEAM JOINER 6-32 X 1/4˝ PHIL HEAD PAN SCREW BODY JOINER8-32 X 1/4˝ PHIL PAN HEAD SCREW

X7 FINSIH PLATE -FLUSH X7 FINSIH PLATE - REG1 X7 FINSIH PLATE - REG3

X3 FINSIH PLATE -FLUSH X3 FINSIH PLATE - REG1 X3  FINSIH PLATE - REG3

WTW FINISH PLATE REFLECTOR REMOVAL TOOL

8-32_X_3_8_HWH_SELF_TAP

X1 FINISH PLATE -FLUSH X1 FINISH PLATE - REG1 X1 FINISH PLATE - REG3

X1 FINISH PLATE -FLUSH X1 FINISH PLATE - REG1 X1 FINISH PLATE - REG3

TROFFER CLAMP

82484 Lens Removal Tool

WAIL RAIL EXTRUSION

PERIMETER OVERHEAD 
MOUNTING BRACKET

LENS REMOVAL TOOL
ALIGNER SEAM JOINER 6-32 X 1/4˝ PHIL HEAD PAN SCREW BODY JOINER8-32 X 1/4˝ PHIL PAN HEAD SCREW

X7 FINSIH PLATE -FLUSH X7 FINSIH PLATE - REG1 X7 FINSIH PLATE - REG3

X3 FINSIH PLATE -FLUSH X3 FINSIH PLATE - REG1 X3  FINSIH PLATE - REG3

WTW FINISH PLATE REFLECTOR REMOVAL TOOL

8-32_X_3_8_HWH_SELF_TAP

X1 FINISH PLATE -FLUSH X1 FINISH PLATE - REG1 X1 FINISH PLATE - REG3

X1 FINISH PLATE -FLUSH X1 FINISH PLATE - REG1 X1 FINISH PLATE - REG3

TROFFER CLAMP

— Lens

100639 Overhead Mounting Bracket

WAIL RAIL EXTRUSION

PERIMETER OVERHEAD 
MOUNTING BRACKET

LENS REMOVAL TOOL
ALIGNER SEAM JOINER 6-32 X 1/4˝ PHIL HEAD PAN SCREW BODY JOINER8-32 X 1/4˝ PHIL PAN HEAD SCREW

X7 FINSIH PLATE -FLUSH X7 FINSIH PLATE - REG1 X7 FINSIH PLATE - REG3

X3 FINSIH PLATE -FLUSH X3 FINSIH PLATE - REG1 X3  FINSIH PLATE - REG3

WTW FINISH PLATE REFLECTOR REMOVAL TOOL

8-32_X_3_8_HWH_SELF_TAP

X1 FINISH PLATE -FLUSH X1 FINISH PLATE - REG1 X1 FINISH PLATE - REG3

X1 FINISH PLATE -FLUSH X1 FINISH PLATE - REG1 X1 FINISH PLATE - REG3

TROFFER CLAMP

100-00086-14 #6 x 3/8˝ Phil Pan Tek Screw

100-00286-14 #6-32 x 3/16˝ Sheet Metal Screw

100-00019-14 #8 x 1/4˝ HWH SMS Phil ScrewWAIL RAIL EXTRUSION

PERIMETER OVERHEAD 
MOUNTING BRACKET

LENS REMOVAL TOOL
ALIGNER SEAM JOINER 6-32 X 1/4˝ PHIL HEAD PAN SCREW BODY JOINER8-32 X 1/4˝ PHIL PAN HEAD SCREW

X7 FINSIH PLATE -FLUSH X7 FINSIH PLATE - REG1 X7 FINSIH PLATE - REG3

X3 FINSIH PLATE -FLUSH X3 FINSIH PLATE - REG1 X3  FINSIH PLATE - REG3

WTW FINISH PLATE REFLECTOR REMOVAL TOOL

8-32_X_3_8_HWH_SELF_TAP

X1 FINISH PLATE -FLUSH X1 FINISH PLATE - REG1 X1 FINISH PLATE - REG3

X1 FINISH PLATE -FLUSH X1 FINISH PLATE - REG1 X1 FINISH PLATE - REG3

TROFFER CLAMP

100-00273-14 7/64˝ x 1˝ Aligner Pin

X 7  ( H A R D  C E I L I N G  C O N C E A L E D  F L A N G E )  

10-26-2020

51 of



Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

LED P23  |  Recessed Linear
2˝ Slot
I N S T A L L A T I O N  I N S T R U C T I O N S 

INDIVIDUAL MOUNTING:

4˝
Length

13/4˝

23/4˝

∅ 7/8˝ K.O for Wiring (Conduit and fittings by others)

LENGTH CEILING OPENING WIDTH

24˝ 24 5/8˝ 

x 31/4˝ 
Width  

Opening

36˝ 36 5/8˝
48˝ 48 5/8˝
72˝ 72 5/8˝
84˝ 84 5/8˝
96˝ 96 5/8˝

1.	 �Cut ceiling opening to dimensions specified (see rough-in dimensions, below)  
and screw mounting brackets onto studs or ceiling joists (Figures 1 & 3).

2.	 Remove LED reflector and install fixture housing onto mounting bracket  
or hanger bolt (shallow plenum).

3.	 Pull supply wires through K.O. into the fixture.

4.	 �Place aperture guides inside fixture to prevent any deformation of housing (Figure 4)  
during installation. Screw flange onto ceiling. Drive screws straight up, DO NOT 
ANGLE, will distort aperture opening. Install lens to test for proper fit. If lens fits too 
tight or too loose,unscrew flanges from ceiling, adjust aperture opening accordingly 
and re-secure flange to ceiling. Test lens again, and repeat until lens snaps in firmly.

5.	 Apply plaster around flange (Figure 5).

6.	 �Make all wire connections and replace LED reflectors. Snap lens into housing.

FOR JOINING AND REFLECTOR DETAILS SEE PAGE 4.

ROUGH-IN DIMENSIONS:

NOTES:   
�LP — Add 5/8˝  to length of row 
WTW — Add 1/2˝ to length of row
 

Structural 
Element

SHALLOW PLENUM:

C E I L I N G  P R E PA R AT I O N

X 7  ( H A R D  C E I L I N G  C O N C E A L E D  F L A N G E )  

Modular  
 Housing

Stud / Joist

Lens

Mounting 
 Bracket

Reflector

HOUSING CROSS SECTION:

Modular  
Housing

Screw Hole

F I G U R E  1

F I G U R E  5

Use drywall tape to avoid cracking  (by others).NOTE: Secure flange to ceiling with drywall screws (by others)

Test the lenses for proper install before mudding the fixture

Finish Ceiling  
Surface

F I G U R E  4  :  A P E R T U R E  G U I D E S
Insert guide near screw holes, hold  
guide in place while installing screws.

NOTE: If aperture guides are not 
used as instructed, the lenses 
may not fit properly and fall out 
if too loose, or break if too tight.

Mounting Bracket

Metal Stud / 
Ceiling Joist

23/5˝  
Aperture Opening

Discard aperture 
guides after 
installation

NOTE: Screws by others, type 
of screw depends on type of 
ceiling support for brackets

Mounting  
Bracket

F I G U R E  3
Metal Stud / 
Ceiling Joist

1/4-20 
Hanger  

Bolt  
(BY  

OTHERS)

F I G U R E  3F I G U R E  2

¼˝ Sheet  
Metal Screw

INSTALL PRIOR TO DRYWALL

FLUSH REG1
23/4˝

43/4˝ 53/4˝

219/32˝ 219/32˝

Ceiling OpeningCeiling Opening
31/4˝ 31/4˝ 

Aperture Aperture

10-26-2020

52 of



Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

LED P23  |  Recessed Linear
2˝ Slot
I N S T A L L A T I O N  I N S T R U C T I O N S 

X 7  ( H A R D  C E I L I N G  C O N C E A L E D  F L A N G E )  

J O I N I N G  D E TA I L

A L I G N E R  
P I N S

R E F L E C TO R  D E TA I L S

Remove reflector assembly to expose 
mounting obrounds and ballast wire  
leads, squeeze and pull out at each end  
of reflector so spring clips disengage  
from clip support bracket.

R E F L E C TO R  R E M O VA L  D E TA I L

Spring  
Clip

Lens  
Removal  

Tool

Support  
Bracket

Spring  
Clip

R E F L E C TO R  P O S I T I O N

D1 / MWG / MBW

MWW-D1W: WALL SIDE MWW-D1R: ROOM SIDE

W
A

LL

W
A

LL

CEILING WASH  PERIMETER FILL CEILING WASH  BATWING WALL GRAZEWALL WASH

WALL WASH ORIENTATION

D1W Reflector 
MWW Lens

W
A

LL Align lens feature  
with same side  
as LED

10-26-2020

53 of



Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

LED P23  |  Recessed Linear
2˝ Slot
I N S T A L L A T I O N  I N S T R U C T I O N S 

F I L L E R  K I T

L I G H T  P O C K E T PAT T E R N
Mark cutline  
around housingWA L L  TO  WA L L

1.	 Determine FILLER location & measure length of filler needed 

(Flush Filler Shown)

I N S TA L L AT I O N

2.	 Disassemble FILLER Kit 

FillerFillerTo right
Filler

Measure from last 
fixture to connector

Measure from last  
fixture to end of row

Measure from last fixture 
to ceiling opening 
(-5/16˝ for X3/X7)

3.	 Measure Trim and Mark for Cutting

PLEASE READ THE FOLLOWING INSTRUCTIONS CAREFULLY: 

LIGHT POCKET

WALL TO WALL & PATTERN

DISCARD

DISCARD

—  
MEASURE  
REQUIRED  

LENGTH

—  
MEASURE  
REQUIRED  

LENGTH

Grinder Drill

or

Power Sheers

TOOLS REQUIRED

10-26-2020

54 of



Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

LED P23  |  Recessed Linear
2˝ Slot
I N S T A L L A T I O N  I N S T R U C T I O N S 

R E F L E C TO R

4.	 Cut and discard Filler Housing 5.	 Cut and discard reflector 6.	 Drill and fix end plate

7.	 Join housings

9.	 Install Reflectors

8.	 Install filler

NOTE: ����Do not cut or remove any section of LED tray as it will cause uneven lights levels in the filler kit.  
All sections of the LED tray should be rolled under the led reflector in the previous fixture housing.

Seam

Body Joiner

#8 x 1/4˝ Screw 
(STAGGERED)

LED TRAY

NOTE : Holes must  
be drilled on housing 

F I L L E R  K I T

A L I G N E R  
P I N S

DISCARD

DISCARD

10-26-2020

55 of


